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HETHERESES

i NO. 1
AREH  ERmR e TR i
& FE g m &
)
) 0 000
1 000
g 0 00
BC.1 6.333 6.05 6.00 380
SP.1 13.802 6.05 6.05 83.5
NO.3 7.865 6.05 6.05 47.6
EG.1 5.936 5.85 5.95 35.3
NO.3 +15.0 9.064 6.24 6.05 54.8
NO.4 5.000 6.32 6.28 31.4
BC.2 15.979 5.60 5.96 95.2
NO.5 4.021 5.60 5.60 225
SP.2 9.523 5.60 5.60 53.3
NO.6 10.477 5.60 5.60 58.7
EC.2 3.066 5.60 5.60 17.2
NO.6 + 120 8.934 7.12 6.36 56.8
NO.7 8.000 5.47 6.30 50.4
BC.3 9.169 5.30 5.39 49.4
NO.8 10.831 5.15 5.23 56.6
SP.3 8.613 5.15 5.15 44.4
NO.9 11.387 5.15 5.15 58.6
EC.3 8.057 5.15 5.15 415
NO.10 11.943 4.95 5.05 60.3
BC.4 5.422 5.10 5.03 27.3
NO.11 14.578 5.15 5.13 74.8
12 000
a 17
 neT3 583
12 000
7 512
5 88
16 0
A7 0
A7 0 0
18 0
19 0
g 7
70 3
i
71 +460 9
75 0
. 5
73 5
74 0
| NOTE 0
. 5
77 095
INEE 540.00
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%ﬁ% NO. 2
AREH  ERmR e TR i
& FE g m &
g 672
78 328
3 439
79 561
30 000
31 000
31 0 000
32 000
32 0 000
33 000
7 701
34 599
7 558
35 442
7 715
35 0 785
36 000
317 000
38 000
39 000
740 000
741 000
42 000
3B 723
43 771
3 7009
44 991
/Ec{ 795
45 705
45 0 000
9 578
46 2
9 1
47 9
- 4
48 6
B f B PR A= 11.6
&5t 960.000 1069.2




HETHERESES

i NO. 1
\ . it K QIR ERLE BRAR
BlRaH | XEESE 2 TG E—— {5

0

0 0 000

q 000

q 0 000
BC.1 6.333
SP.1 13.802
NO.3 7.865
EC.1 5.936
NO.3 +15.0 9.064
NO.4 5.000
BC.2 15.979 1.25 0.63 10.1
NO.5 4.021 1.49 1.37 5.5
SP.2 9.523 1.93 1.71 16.3
NO.6 10.477 1.86 1.90 19.9
EC.2 3.066 1.79 1.83 5.6
NO.6 +12.0 8.934 0.90 8.0
NO.7 8.000 0.99 0.50 4.0
BC.3 9.169 2.35 1.67 15.3
NO.8 10.831 2.70 2.53 274
SP.3 8.613 2.55 2.63 227
NO.9 11.387 1.70 2.13 24.3
EC.3 8.057 1.26 1.48 11.9
NO.10 11.943 1.00 1.13 13.5
BC.4 5.422 1.09 1.05 5.7

NO.11 14.578 2.58 1.84 26.8
12 7000

3 117

M 583

T4 000
¢! 512
15 188
16 0
A7 0
A7 0 0
8 0
19 0
- 7
70 3
1

21 ++00 9
7] 0
- 5
73 5
74 0
| NOTE 0
- 5
77 095
IVEE 540.00
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it NO. 2

Q A it K QIR ERLE BRAR
BlRaH | XEESE Z T40E m &
g 672
78 328
- 439
79 561
30 000
31 7000
«1 0 000
32 1000
32 0 000
33 000
%] 701
34 999
7 558
35 442
g 715
5 0 785
36 2000
37 000
8 000
39 000
740 000
71 000
42 000
8 123
43 217
B 009
744 991
| ecE 595
45 -105
45 0 000
9 678
46 322
9 341
47 699
- 004
48 996
&&t 960.000 217.0
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FEEMIHES

Ei!
i

A W RO BiI &
H—KFL—JL Gr-C-2B m 56.4
TLx v AN —RL— L £
15 (R EE) m 25 B0.8L=20
25(RRER) m 8.6 B0.8 L=2.0

25 m 47.8 B0.8 L=2.0




A—KL—L 3 e
p. 1l 1
p:[| =1 T & = pil| E K i®E &
0 _— < _nod w180
NO.3 +11.4 ~ NO.6 +10.0 564 Gr-C-2B
NO.9 +130 ~ NO.11 +2.0 290 Gr-C-4E
o =
[m=] a
H—FL—JL m
Gr-C-2B 56.4




TLE TR —RL— )L &5 T E O =
i {1 A ]
p:(] = E R B & p:[] =1 E R & &
0 _— < _Nod 1435
NO.1 +135 ~  NO.1 +16.0 25 1E®AED
NO.3 +114 ~ NO.4 8.6 22WAED
NO.4 ~ NO.6 +100 478 25
& &t
TLEx v AMT—RFL—ILER7E
m
15(FERER) 25
m
2E (R ELE) 8.6
m
2= 47.8




A—FL—I\HEHEE

Gr-C-2B
S
—41 2
[ap
{
L)
2
o
2 ]
(1
= (]1
= (]
(o
o
L E L=10.00m
‘I.\IL =
£ B B & 2 oz 5 om o=
==
H—KL—J| Gr-C-2B 1.000 1000 1000 m




TLEVvRM—RL—ILERBEHEE

15 LF VYA —RLU—ILER (R RER)

FLEXYAFH—FL—ARH

EEE K 20mEL £

E

\ 4D0 ‘
=l g /ﬁ%wﬁn
e o © /%Z%:l vHY—k
(0 \‘
ARRE
1.0Q 300 00
1000
N=1=
E £  L=250m
- . D10 =
& B H & = %‘Jééﬁﬁﬁg
FL&rRMi—| BC-18:20
N o om | 25/20 1.0 1.00 10 &
fEEEa 2" )—k| 0 ck=24N/mm2| 0.0174 X 1 0.017 1.00| 0.017 m3
1EHEI 0.048 x 1 0.048 1.00/ 0.048 m2
EHEILAIL 1:3 0.900 X 0.020 X 2.5 0.045 1.00| 0.045 m3
HRa 21—k 0 ck=18N/mm2| 1.000 X 0.100 X 2.5 0.250 1.00/ 0.25 m3
EBRA 1.000 x 2.5 2.50 1.00 250 m2




TLEVvRM—RL—ILERBEHEE

FLFrr R H—FL— LR

28T F v A —FL—)LERE

ERFIER 20mELE

500
480

59

BEILEIL
XEa2 2 Y—F

20

=i

Ty oRES -
40.

N=1=
L E L=47.80m
‘I. s L _
& B H & 2t ?gﬁé £ B M B
FLEvRhH—| BC-18:20
Ko Lo o | 47:8/20 24.0 1.00| 240 X
s 2 )—k| 0 ck=24N/mm2| 0.0174 X 23 0.400 1.00| 0.400 m3
1EHEI 0.048 x 23 1.104 1.00/ 1.104 m2
HEILZRIL 1:3 0.900 X 0.020 X 47.8 0.860 1.00| 0.860 m3




TLEVvRM—RL—ILERBEHEE

25T F Y RAMA—RL—VEREREER)

FLEXYAFH—FL—ARH

EEE K 20mEL £

E

\ 4D0 ‘
=l g /ﬁ%wﬁn
e o © /%Z%:l LHY—
(0 \‘
N ARBRE
1.0Q 300 00
1000
N=1=
E K  L=8.60m
N . L =
& B H & 2t %‘Jééﬁﬁﬁg
FLEvRhH—| BC-18:20
e L=2 Om 8.6/2.0 40 1.00 40 X
fEEEa 2" )—k| 0 ck=24N/mm2| 0.0174 X 4 0.070 1.00/ 0.070 m3
1EHEI 0.048 x 4 0.192 1.00/ 0.192 m2
EHEILAIL 1:3 0.900 X 0.020 X 8.6 0.155 1.00| 0.155 m3
ERo 91—k 0 ck=18N/mm2| 1.000 X 0.100 X 8.6 0.860 1.00 086 m3
R 1.000 % 8.6 8.60 1.00| 8.60 m2
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ERfTEESE T BEEFR

& ¥ s By % S 5 &
BEIY)—bk 15 m 90.5 | V=90.5 X 0.050=4.5m3
RO —b 15 m 62.5 | V=62.5 X 0.043=2.7m3

25 m 36.6 | V=36.6 X 0.051=1.87m3

ESTES 25 m 31.2 | V=31.2%0.0563=1.76m3




eIV —k T £ A £

v {8 A {1
B: | = T K g &= pil| = T E g &=
NO.6 +10.0 ~ NO.11 +2.0 90.5 1=
15 +58~ < NoT6 +174

& i

®BEavo)—k m

15 90.5




kD) —k T OB
= il a {8
A = I = i® & pil| = I =2 i® &
T3 +175 < NeT5 +568~ NOO +42 ~ NO.1 +43 20.6 15
NO.1 +43 ~ NO.3 +4.9 36.6 25
NO.3 +60 ~ NO.5 +7.0 419 15
& &
RV —k
1= 62.5
25 36.6




=T

i

ERSE
v {1
Bl = T & H E &
NO.9 +9.5 NO.11 +1.8 31.2

b

B Bt 3R

31.2




1ZREI ) HEFHEE

500

a7 )—k
o ck=18N/mm2
BEESE: o ] =i
,\/—_}-//////
// ///
. K L=10.00m

. E .‘I_\'L =
& W OB % 5 3t BUEY g g om o=

# =
a29)—bk | gok=18N/mm? 0.500 X 0.100 0.0500 10.000 0.500 m3
i) B 0.100 x 205 FF 0.200 10.00 2.00 m2
B ih #t t=10mm | 0.500 X 0.100 0.05 1.00, 0.050 m2




1=k D) — bS8

=

=
1000
520 480
//, ‘<
aval—+ o7 ///
Uck:lim -./\," L
A //
Ve
\ 7
0 TS S5
|k I._; ;__l § —
\‘ ‘ ] r/
|} I
R I
u _—______'_ J 380
. 3
£ &K L=10.00m
. & .‘I_\'L =
% W OB % = o BUEY g g om o=
# =
a29')—bk | gck=18N/mm? (0.480+0.380)/2 X 0.100 0.0430 10.00| 0.430 m3
t=10mm (0.480+0.380)/2 x 0.100 0.043 1.00 0.04 m2

B it #f




28RV M REFEE

28 (NO.47+7.6~NO0.48+5.0(F%k))

] 510 , TSI ,
/
/
/
!
/
r————-"=-=- \\ { [
] / S
v 3 ,/
\
| K
I |
I et S S $518W-0. 03
rt-——————-— —J"l ‘
L J
EHHIEW = 0.52 m
E £ L=10.00m
. BA (T L -
& W OB % 5 3t BUEY g g om o=
# =
a9 —bk | gck=18N/mn? (0.520+0.490)/2 % 0.100 0.0510 10.00 0.510 m3
B i#h # t=10mm | (0.520+0.490)/2 X 0.100 0.051 1.00, 0.05 m2




25 ;

28 (NO.17+0.1~NO.18+2.7(%k))

/%E:>7U—h

Ao )—
o ck=18N/mm2

FEHEW= 059 m
E £ L=10.00m
. E .‘I_\'L =

& W OB % 5 3t BUSY 5 g ow B2

# =
a9 —bk | ock=18N/mm? (0.590+40.536)/2 x 0.100 0.0563 10.00 0.563 m3
i) B 0.100 X 1.0m 0.100 10.000 1.00 m2
B i#h # t=10mm | (0.590+0.536)/2 X 0.100 0.056 1.00, 0.056 m2
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wOE Ok B XK NO. 1
& I C =N B A % =
BEE T
G 22— b UgF—L2 104. 800
=1 V-V ERRE T
BNV ERE | H—FL—EET 2y (GN—Z : 400X 1500) 38. 000
EERFAEECo carZ U—1 (18-8-25) 11. 936
. 7 i 14. 920
LIV % - EJLHIL (1:3) 0. 950
B Htt B - B #Ht A (t=20mm , B=250mm) 9. 500
ZEyaAFo—l « B AF 11—, (+=20mm) 0.149
=T
FopgEay ) - cavZ U—1 (18-8-25) 8. 766
- B g 29. 220
EP SEGEXTL
B - D—20 37. 750
-DX—24 26. 400
- DX—24H 10. 500
-DX—209 107. 225
- DX—29 (KA®E) 20. 675
Bl & M B4R 466
Fh T
EERERAR - a7 U—} (24-12-25) 18. 671
- B A 12.917
- EEEAH (¢ 6-150X150) 124. 470
FH R PR i cayZ U—1 (18-8-25) 7.116
- B A 3. 459
- EEEAH (¢ 6-150X150) 47. 440
sRav)) -t LT
) -} -3y J—} (18-8-25) 7.159
- B A 28.515




NO. 1

& Al

&

=

H (L

% B

BE m T
i 5 BE

B =N V-V EERET
/AR NS /B - 92

L ERFAEECo

B )L 2 gL

B # £

FYAAFn—

® T
Foptay ) -}

v

v

s =Za—F4 hUF—/L2

s H—RL—VEfET v

H &A= 7.46 m?
EERME B = 1.600 m
X (EPSEEERKLY)

« 27— (18-8-25)

V=AXHB
7.460 X 1.600

@
AX 2
= 7.46 X 2

HERiE B = 1.250 m
EERE t = 0.020 m
E K L = 38.000 m

< ELZL (1:3)

V=BX1tXL
= 1.250 X 0.020 X

= 0.250 m
= 38.000 m

= 0.250 X 38.000

m fEA2 = 7.46
BRRIE ¢ = 0.020 m

« B AF —/ (t=20mm)

V=AX1t
7.460 X 0.020

A = 14.61 m?
B = 0.600 m

&

[H]
i
X

- a7 J—1h (18-8-25)

V=AXHB
= 14.61 X 0.600

e
A X2
14.61 X 2

X (HEEEEM EmRANLY)

(G_—Z : 400X 1500)

38. 000

X LETIREE Comn g

(ff B EEmM E R L V)

104. 800

38. 000

11. 936

14. 920

0. 950

9. 500

0. 149

8. 766

29.220




NO. 2

& Bl & = H | #% &
EP ST
B4 (D-20) |- D—20
A 26. 000 (=A) + —— (=B) + ——— (=0)
+ — (=D) + - (=E) + — (=)
+ 1.500 (=G) + - (=H) + 9.000 (=I)
+ — =D + 1.250 (=K) s 37.750
EilE=s A B C D E F G H 1 J K
BALIRFE 1.000| 0.875| 0.750| 0.625 0.500 0.375| 0.250| 0.125| 0.750| 0.500| 0.250
A 26.000) -—- — — — — 6.000| -———— | 12.000| -—-— 5. 000
IKFEA 2 37. 750 26.000) -——— — — — — 1.500| -—— 9.000| -—— 1.250
1 BR
2 BB —
3 BH 7. 000 4 4
4 EXH 11. 250 8 4 2 3
5 B H 19. 000 14 6 2
6 B&H 0. 500 5
7T ER|
8 &R |  ——
9 BH| @ —
10 gl

X (EPSEFIKLY)




NO. 3

& Bl & = H | #% &
B -1 (DX-24) zvVl = 11. 000 (=5A) + —— (=5B) + -—— (=5C)
(£=500) + 0.625 (=5D) + -——— (=5E) + -——— (=5F)
+ 1.000 (=5G) + -—— (sBH) + -———— (=50)
+ —— (=5]) + 2.750 (=5K) = 15.375 m®
o5 5A 5B 5C 5D 5E 5F 56 5H 51 5] 5K
BALIRFE 1.000| 0.875| 0.750| 0.625 0.500 0.375| 0.250| 0.125| 0.750| 0.500| 0.250
A 11.000) —- -— 1.000| —- — 4.000] ——- -— —— | 11.000
BFEA T 15. 375 11.000| —— — 0.625 —- — 1.000| -—— — — 2.750
1 &R
2 B H 4. 250 3 2 3
3 BH 2. 500 2 2
4 B H 3.000 2 2 2
5 BH 2. 500 2 2
6 BH 3.125 2 1 2
TEA|
8 &R |  ——
9 BR|
10 &H| ——
% (EP SEFIMLY)
zv2 = 7.000 (=3.54) + ———— (=3.5B) + ———— (=3.50)
(t=350) + ———— (=3.5D) + —— (=3.5E) + ———— (=3.5F)
+ 1. 050 (=3.5G) + —— (33.5H) + 2.100 (=3.51)
—— (=3.5])) + 0.875 (=3.5K) =  11.025 m’
=2 3. BA 3.5B 3.5C 3.5D 3.5E 3.5F 3. 56 3.5H 3.51 3.5] 3. 5K
BANTIAFE 0.700) 0.613) 0.525  0.438| 0.350| 0.263| 0.175| 0.088| 0.525| 0.350| 0.175
A7 10.000| ——- — — — — 6.000| — 4,000 -——- 5. 000
BIEAFT 11.025 7.000] —— — — — — 1.050| —— 2.100| — 0.875
1 BER|
2 BR|
3 A
4 BR|
5 BH| ——
6 BH 11. 025 10 6 4 5
TEBR| ——
8 &R -
9 &R
10 BR| ——
¥ (EPSEFIXKLY)
- DX—24
2V = XVl + XV2
= 15.375 + 11. 025 m? 26. 400




NO. 4

& Rl 3 = Bl % &
B+4r DX-24H] - DX—24H
XV = (=510)  + ———  (=5B) ——  (=50)
+ —— (=5D) + ——  (=5E) 1. 500 (=5F)
+ -—— (=5G) + ————  (=5H) 9. 000 (=51)
+ -——= (=5]) + ——  (=5K) 10. 500
Eille=a 5A 5B 5C 5D 5E 5F 5G 5H 51 5] 5K
AL 1. 000 0.875 0. 750 0. 625 0. 500 0.375 0. 250 0. 125 0. 750 0. 500 0.250
wEess | - - - - 4. 000 - - 12. 000 - -
ENEE Y 10.500]  ——— — — — — 1.500 -—- -— 9.000, -—— -—
1 BH 3. 000 4
2 EBH 2.250 2 2
3 BrH 1. 500 2
4 BtH 2. 250 2 2
5 B H 1. 500 P
6 BH| ——
7T B
8 BH,
9 BH =
10 28| —

X (EPSEFIKLY)




NO. 5

Rl

&

=

H AL

®

V1
(t=500)

& 44 (DX-29)

67.000 (=5A)
+  0.625 (=5D)
+3.000 (=56)
(=5])

n [

+ 4+ + +

(=5B)
0.500 (=5E)
(=5H)
3. 750 (=5K)

+ + +

(=5C)
0.375 (=5F)
14. 250 (=5I)

89.500 m’

G

5A

5D 5E 5F

5G

51

5K

HATRTE

1.000

0.625 0.500 0.375

0. 250

0.750

0.250

B A3

67.000

1.000 1.000 1. 000

12. 000

19. 000

15. 000

IRFE A A 89. 500

67. 000

0.625 0. 500 0.375

3. 000

14. 250

3. 750

E&H

B R

BB

BB

BH

E&H
E&H

29

10

B R

33

11

O |~ O G| | WD —

B R

10 BxH

X (EPSEFIKLY)

2V2
(t=400)

= 4.800 (=44)

(=4D)
(=46)
(=4])

+ [
+ [
+ N

(=4B)
(=4E)
(=4H)
0.200 (=4K)

+ + +

(=40)
(=4F)
0.600 (=4I)
5.600 m’

L

4A 4C

4D 4E 4F

4G 4H

41 4]

4K

AT RFE

0.800 0.600

0. 500 0. 400 0. 300

0.200] 0.100

0.600| 0.400

0.200

WA

6. 000

1. 000

1.000

A

4.800

0. 600

0.200

BH

EH

EH

B R

BB

BB

BH

EH

|| || o] e w| | —

EH

10 BH

% (EP SEFIKEY)




&

Gl

=

H L

%.
s

+ 4+ + o+

(=3. 5B)
(=3. 5E)
(=3.5H)
(=3.5K) =

+ + o+

(=3.50C)
(=3. 5F)
(=3.51)

0.000 m?

i

=X

BT fAAH

0.525

0.438

0. 350

0.263

0.175

0. 088

0.525

0. 350

0.175

(e

S

0.000

BB

BB

BB

E&H

E&H

B R

BB
BB

O =[O | U1 & W || —

BB

10

BB

X (EPSEJIKELY)

SV4
(t=300)

4.200 (=34)
0. 375 (=3D)

(=36)
(=3))

+ 4+ + +

I
(o]
=
N—
+ + +

0.450 (=30)

(=3F)

1. 350 (=31)
6.375 m®

S

%

3A

3B

3C

3G

3H

31

3J

3K

HATRTE

0.600

0.525

0. 450

0. 150

0.075

0. 450

0. 300

0. 150

(EE'=ry

7.000

1. 000

3. 000

(SR

6.375

4.200

0. 450

1. 350

EH

B R

BB

BB

BB

EH

EH

B R

O 0| || T | ||| —

BB

10

BH

X (EPSEFIHLY)




NO. 7

Rl

&

=

H AL

®

3.200 (=24)

(=2B) +
(=2E) +
(=20 +
0.200 (=2K) =

(=20)
(=2F)
0.600 (=21)
4.000 m?

G

27

21

2K

HATRTE

0.400

0. 300

0. 100

B A3

8. 000

2. 000

2.000

IRFE A A 4. 000

3.200

0. 600

0.200

E&H

B R

BB

BB

BH

E&H
E&H

B R

O |~ O G| | WD —

B R

10 BxH

X (EPSEFIKLY)

V6
(t=100)

1. 400 (=1A)
(=1D)
(=16)
(=1])

(=1B)
(=1E)
(=1H)
0.200 (=1K)

+ + +

(=1C)
(=1F)
0.150 (=1I)
1.750 m?

L

1A

1B 1C

1D 1E 1F

1G 1H

11

1J

1K

AT RFE

0.200

0. 150

0.125 0. 100 0.075

0.050| 0.025

0. 150

0. 100

0. 050

WA

7.000

1. 000

4. 000

A

1. 400

0. 150

0.200

BH

EH

EH

B R

BB

BB

BH

EH

|| N|o|o| e w| M| =

BB 1. 050

10 BB 0. 700

% (EP SEFIKEY)

v

-DX—29

SVl + XV2 + XV3 + V4 + V5 + XV6

89.500 +
+ 6.375 +

5.600 +
4.000 +

0. 000
1. 750

107. 225




NO. 8

& Bl 3 = Bl % &
M (EEE) |« DX—29 ((REE)
ZV = 6.000 (=5A) + 0.375 (=5F) + 3.000 (=51)
+ 1.600 (=4A) + 6. 300 (=3.510) + 1. 800 (=34
+ 1. 600 (=24) + 0. 000 (=) + 0.000 (=
+ 0. 000 (= + 0.000 (=) m°® 20. 675
EVE= 5A 5F 51 44 3.5A 3A 24
BALIRFE 1.000| 0.375| 0.750| 0.800| 0.700| 0.600| 0.400
A 6.000| 1.000, 4.000| 2.000/ 9.000/ 3.000 4.000
R R 20. 675 6.000 0.375 3.000| 1.600| 6.300 1.800| 1.600
1 BR
2 BR|
3 BH
4 BB
5 &R
6 ExH 6. 300 9
TERH
8 EXH 4. 625 2 1 3
9 E¥H 9. 750 4 1 2 3 4
10 BH | -
¥ (EPSEFIKLY)
Bl & BEMEPS
D—20 (B&EtH) V1= 37.750 w’
DX—24 (E+H) v2 = 26.400
DX—24H (E+H) v3= 10.500 m’
DX—29 (BE+H) v4 = 107.225
DX—29 (KEE) V5 = 20.675 w’
N=(Vl1+V2+V3+V4d+V5) X 2.3
= ( 37.750 + 26.400 + 10.500
+ 107.225 + 20.675 ) X 2.3 1 466




NO. 9

& I C =N B A % =
PRI T
EE R RhREFE A = 124.47 n?
RIPER L = 86.11 m
Wrm = ¢t = 0.150 nm
% (2o 2V — MNRIRFER X Y)
« a7 U—}F (24-12-25)
V= A X1t
= 124.47 X 0.150 m? 18.671
i 2
S =L Xt
= 86.11 X 0.150 m? 12.917
- EEEAEE (¢ 6-150X150)
S = A
= 124.47 m? 124. 470
H AR AR EhREFE A =  47.44 n?
RIPIER L = 23.06 m
Wrm = ¢t = 0.150 nm
% (2o 7V — MRERFEEREY)
- 37 U—} (18-8-25)
V=AXt
= 47.44 X 0.150 m? 7.116
i i
S =L Xt
= 23.06 X 0.150 m? 3. 459
- BHEEH (¢ 6-150X150)
S = A
= 47.44 m? 47. 440




NO. 10

B Bl i = HA| #% =
way) -+ T
GIE=VZA N « a7 JY—h (18-8-25)
B Wr | 8 CEHWrmAE | RS TEEERE | R
s S1 (m?) S2 (m?) L (m) V=82 XL
NO. 1+15. 887 0. 20 0. 200 0.115 0. 023
NO. 1+16. 000 0.20
0. 160 1. 150 0. 184
NO. 1+17. 150 0.12
0. 160 1.183 0.189
BC. 1 0. 20
0. 200 3. 999 0. 800
NO. 2+ 2. 000 0.20
0. 200 2.181 0. 436
NO. 2+ 4. 000 0.20
0. 200 8.873 1.775
SP. 1 0. 20
0. 200 8. 577 1.715
NO. 3 0.20
0. 180 6. 477 1.166
EC. 1 0.16
N 3411, 383 016 0. 160 5. 445 0.871
& 38. 000 7. 159
% (B ED) m® 7.159
e
i Wr m £ EHWmEE BSREERE m ME
o L1 (m?) L2 (m?) L3 (m) S=L2XL3
NO. 1+15. 887 0. 10 0. 100 0.115 0.012
NO. 1+16. 000 0. 10
0. 100 1. 150 0.115
NO. 1+17. 150 0.10
0. 550 1.183 0. 651
BC. 1 1.00
1. 000 3. 999 3. 999
NO. 2+ 2. 000 1.00
1. 000 2.181 2.181
NO. 2+ 4. 000 1.00
1. 000 8.873 8. 873
SP. 1 1.00
1. 000 8. 577 8. 577
NO. 3 1.00
0. 550 6. 477 3. 562
EC. 1 0. 10
NO. 3411, 383 010 0. 100 5. 445 0. 545
= 7 38. 000 28.515
% (B L) m? 28.515




